
4/3/2014 Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [H250SFA 16 Gauge Straight Finish Nailer (Husky)]/[General Assembly]_____________…

http://ryobitools.arinet.com/scripts/EmpartISAPI.dll?MF&app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acf9f03&cat=3&TF=epcFrame&assem=399&s… 1/5



4/3/2014 Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [H250SFA 16 Gauge Straight Finish Nailer (Husky)]/[General Assembly]_____________…

http://ryobitools.arinet.com/scripts/EmpartISAPI.dll?MF&app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acf9f03&cat=3&TF=epcFrame&assem=399&s… 2/5

Ref # Part # Description Qty Context Note Foot Note

1 079065001166
Bolt (M5 x 16 mm,

Hex Hd.)
1   

2 079065001167 Cover 1   

3 079065001168 Air Deflector 1   

4 079065001169
Bolt (M5 x 20 mm,

Hex Hd.)
6   

5 079065001170
Washer (M5 x 1.3

mm)
6   

6 079065001171 Top Cap 1   

7 079065001172 Sealing Washer 1   

8 079065001173
O-Ring (D18 x 1.8

mm)
1   

9 079065001174 Valve spring 1   

10 079065001175
O-Ring (D48.7 x

2.65 mm)
1   

11 079065001176
O-Ring (D38 x 3.5

mm)
1   

12 079065001177
O-Ring (D25 x 3.5

mm)
1   

13 079065001178 Head Valve Piston 1   

14 079065001179
O-Ring (D60 x 2.5

mm)
1   

15 079065001180 Gasket 1   

16 079065001181
O-Ring (D42 x 2.5

mm)
1   

17 079065001182
O-Ring (D42 x 3.55

mm)
2   

18 079065001183 Cylinder 1   

19 079065001184
O-Ring (D31.3 x

3.55 mm)
1   

20 079065001185 Driver Unit 1   

21 079065001186 Bumper 1   

22 079065001187 Gasket 1   

23 079065001188 Housing Assembly 1 (Inc. Key Nos. 89-92, and 98)  

24 079065001189 Guide Washer 1   

25 079065001190
Roll Pin (M3 x 26

mm)
2   

26 079065001191 WCE Guide Seat 1   

27 079065001192 Adjustment Washer 1   



4/3/2014 Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [H250SFA 16 Gauge Straight Finish Nailer (Husky)]/[General Assembly]_____________…

http://ryobitools.arinet.com/scripts/EmpartISAPI.dll?MF&app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acf9f03&cat=3&TF=epcFrame&assem=399&s… 3/5

28 079065001193 Compression Spring 1   

29 079065001194 Adjustment seat 1   

30 079065001195 Pin (M1.5 x 8 mm) 2   

31 079065001196 Ball (2.5 mm) 2   

32 079065001197
Compression Spring

(B)
2   

33 079065001198
Depth of Drive

Adjustment Wheel
1   

34 079065001199 Push Stem 1   

35 079065001200
Bolt (M4 x 8 mm,

Hex Hd.)
1   

36 079065001201 Guide Washer 1   

37 079065001202 WCE Tip 1   

38 079065001203 No-Mar 1   

39 079065001204
O-Ring (D11.7 x 2.4

mm)
1   

40 079065001205
O-Ring (D13 x 1.5

mm)
1   

41 079065001206 Valve Seat 1   

42 079065001207
O-Ring (D3.75 x 1.8

mm)
1   

43 079065001208 O-Ring (D6 x 2 mm) 1   

44 079065001209
O-Ring (D7.2 x 1.9

mm)
1   

45 079065001210 Shuttle Valve 1   

46 079065001211 Trigger Spring 1   

47 079065001212
O-Ring (D2.5 x 1.5

mm)
2   

48 079065001213 Trigger Valve Stem 1   

49 079065001214
O-Ring (D15 x 2.65

mm)
1   

50 079065001215 Trigger Seat 1   

51 079065001216 Helix Spring 1   

52 079065001217 Guide Plate 1   

53 079065001218 Guide Plate 1   

54 079065001219 Pin Sleeve 2   

55 079065001220 Fix Plate 1   

56 079065001221 Pin 1   

57 079065001222 Retaining Ring 2   

58 079065001223 Roll Pin 1   



4/3/2014 Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [H250SFA 16 Gauge Straight Finish Nailer (Husky)]/[General Assembly]_____________…

http://ryobitools.arinet.com/scripts/EmpartISAPI.dll?MF&app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acf9f03&cat=3&TF=epcFrame&assem=399&s… 4/5

59 079065001224 Drive Guide 1   

60 079065001225
Roll Pin (M2.5 x 16

mm)
1   

61 079065001226 Spacer 1   

62 079065001227 Steel Bar 1   

63 079065001228 Sliding Magazine 1 (Inc. Key No. 96)  

64 079065001229 Pusher 1   

65 079065001230 Magazine Assembly 1 (Inc. Key No. 95)  

66 079065001231
Roll Pin (M1.5 x 10

mm)
1   

67 079065001232 Spring 1   

68 079065001233 Spring Core 1   

69 079065001234
O-Ring (D2 x 1.5

mm)
2   

70 079065001235 Pusher Seat 1   

71 079065001236 Lock Pin 2   

72 079065001237 Snap Bolt 3   

73 079065001238 Position Bolt 1   

74 079065001239
Bolt (M4 x 10 mm,

Hex Hd.)
2   

75 079065001240 Lock Nut (M4) 3   

76 079065001241
Roll Pin (M2.5 x 18

mm)
1   

77 079065001242 Fixed Seat 1   

78 079065001243
Roll Pin (M3 x 10

mm)
1   

79 079065001244 Trigger Plate 1   

80 079065001245 Trigger 1   

81 079065001246 Trigger Pin 1   

82 079065001247
Bolt (M4 x 20 mm,

Hex Hd.)
1   

83 079065001248 Washer 1   

84 079065001249
Housing Handle

Sleeve
1   

85 079065001250 End Cap 1   

86 079065001251 Air Inlet Plug 1   

87 079065001252 Air Inlet Plug Sleeve 1   

88 079065001253
Washer (M4 x 1

mm) 1   



4/3/2014 Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [H250SFA 16 Gauge Straight Finish Nailer (Husky)]/[General Assembly]_____________…

http://ryobitools.arinet.com/scripts/EmpartISAPI.dll?MF&app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acf9f03&cat=3&TF=epcFrame&assem=399&s… 5/5

89 079006004904 Oil Daily Label 1   

90 079028005904
Quick-Start Label

(#1)
1   

91 079006004901 Logo Label (1) 1   

92 079006004902 Logo Label (2) 1   

93 079006004908
Quick-Start Label

(#2)
1   

94 079028005906
Quick-Start Label

(#3)
1   

95 079006004903
Data/Warning Label

(English)
1   

96 079006004906
Quick-Start

Directions Label
1   

97 079006004910
Data/Warning Label

(Spanish)
1   

98 079023002909 Black Jewel Emblem 2   

 079065001265 Driver Assembly 1 Not Shown (Inc. Key Nos. 15-17)  

 079065001264
Driver Maintenance

Kit
1 Not Shown (Inc. Key Nos. 19-22)  

 079065001263
Overhaul

Maintenance Kit
1

Not Shown (Inc. Key Nos. 7-8, 10-12, 14-17,
19, 21-22, 25, 39-50, 54, and 81)

 

 988000187 Operator's Manual 1 Not Shown  


